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AG=AH-A TS =AU+A pV —A TS
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AAd = AU — A(TS) A, = AU-TAS

AG = AH — A(TS) + |AG, =AH—TAS
1
NU=0 /N\H=0 "AS=annE=—ann&
, - % - . Vi Dy
AG, AA, = nRTIn—: nRTI%Z
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[ AM=0 AG=0 }
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AH=TAS AG=AH TAS=0 [..AG=0
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¥ 0. 4mol ., 300K . 200. OkPa B FLHE B SR, AR K
#P1000kPa , it 72 & Hr 817 4988. 47, B HHZ B A 7E300K .
' 200. Ok Pa B (Y BE SR 4 Sm=205. 0J-K "' *mol™", I3 5& H AR /IR I
C,.=3.5R AR LE LRI AU .AH \ASAG L AA FRET?

ﬁ: Eﬁ;‘@%:ﬁtﬁQ:U,E?u

W =AU =nCy (T ,—T ) =4988. 47
T,=W /2Cy on+T,=900K

AH =nC, (T ;—T,;) = 6983. 76J

AS =nC, In(T /T ) +nRIn(p,/p2)=7.435J+K ™’

81:0- 41‘!101)(205. OJ‘Kﬁltmol'—l:ng.K_l 300k
_| 200kPa
S,=8,+AS=89.435J-K ' S_=205J'k'-mol!
A(TS)=8,T ,—8,T,=55891. 5] l
AG =AH —A(TS)=—48.908kJ T,
1000kPa

AA =AU —A(TS) =—50.903kJ g
2




3.37 100 kPa 0 -5

-322.4Jg !
0.422kPa 0.414kPa 100 kPa -5 1kg
S G
lkg H,O(1) 47 =0, dp=0 lkg H,O(s)
T =268.15K, p =100 kPa TIT = 268.15K, p =100 kPa|
(0 l | T(ﬂ
lkg H,O(1) lkg H,O(s)
T =268.15K,p, =0422kPa T =268.15K, p; = 0414 kPa

-y \‘{ T(q}

lkg H,0(g) 3 lkg H;0(g)
T =268.15K, p, = 0.422 kPa T =268.15K, p, = 0.414 kPa

g




lkeg H,O(1) 47 =0, dp=0 lkg H,O(s)

7 =268.15K, p =100 kPa T =268.15K, p =100 kPa|
(1) l T 5
lkg H,O(l) lkg H,O(x)
T =268.15K,p, = 0.422 kPa T =268.15K, p, = 0.414 kPa
(2 l T@}
lkg H,O(g) 3 lkg H,O(g)
T =268.15K, p, = 0.422 kPa 1|7 =268.15K, p, = 0.414 kPa
2 4 AG,=AG, =0
AG, =0 AG,=~0
AG = AG,+AG,+AG,+AG,+AG, = AG, = nRTIn 22 = 2370 kJ
D,

1
AS = ?(AH—AG) =-1.193kJ - K™
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(298K)
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1AcT3
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o(T) LN
[Aﬁf =Aer—TArSn?] AH; (T)—AH0+AaT+2AbT +

A SS(T)=(Aa+IR)+AanT + AbT+%AcT2




3.40 CH, (2)+CO,(g) = 2CO(g)+2H,(g)

1) S AHS 25 A SS AGS

(2) AGS 25 A GS

(3)25 CH,(g) H,(g) 150 kPa CO(g)
H,(g) 50 kPa S G

(1) ASZ =1 S52(B) =256.712 J-mol™ - K™
E
AHZ =>"vAHZ (B) =247269 kT-mol™
E
AGS =AHS -TA SZ =170.73k]-mol™

(2> AGZ =D vAGZ(B) =170.743 kJ- mol™
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CH,(g) + COy(g) = 2C0O(g) +2H,(g)

AE: py=150kPa p,=150 kPa #,=50 kPa p,
(1}1 {Hik 25T T{g}
CHi(g) + CO; “’*{’fﬁﬁ 200(g) + 2Hy(g)
»® p° ) 2° »© =100 kPa

AS; =AS(CH,) +AS(CO,)=2R In(p,/2°)=6.742 5 ] K ' +mol !
AS; = D vpSS(B,B)=256.712 J-K '+mol ™! =256.712 J-K~'~mol !
&53=ﬂ§(m}+ﬂS{H;}=4R In(100/50) =23.052 7 J*K ™' *mol !
FFEL  AS.=AS;+AS;+AS3=286.507 J*K ™' mol !

TSR, A H,, SENARDTRX, 8B
AH,=AHE =247.269 k] *mol ™!
AG, =AH-TAS, =161.847 k] *mol ™!




3.34. 100 2 mol

N,(g) 3 mol H,O(l)
120 kPa
O W U H A A G
100 101325Pa
40.668kJ-mol !
H,0(g)
p,(H,0)= n(11,0) p= (é X 120) kPa =72 kPa < 101.325 kPa
n(H,0)+ n(N,) S
3 mol H,O(1l) 3 mol H,O(g) 3 mol H,O(g)
2mol N, (g) ar—g |2 mol N, (g) ar—n |2 mol N_(g)
p(N,)=120KPa| & |py(N;)=1201KkPa @ 7| p,(N,) = 48 kPa
P (H,0)=101.325 kPa p,(H,0O) = 72 kPa




3 mol H,0(1) 3 mol H,O(g) 3 mol H,O(g)

2mol N, (g) _dT=0 2 mol N, (g) _dr=n, 2 mol N, {g) '

p(N)=120kPa| ' |p(N,)=120kPa @ 7| p,(N,) = 48 kPa
p(H,0)=101.325kPa p,(EL0) = 72 kPa

W=-p, ., (V,-V,)=—An(g)RT =(-3x8.314x373.15)J =-9.307 kJ
Ap=0
Q=AH =AH(H,0)+ AH(N,) = AH(H,0) =n(H,0)A _H_(H,0)=122.004kJ

vap 'm

AU =Q +W =[122.004 +(~9.307)] kJ =112.697 k)
AS = AS(H,0)+AS(N,)=AS, (H,0) + AS, (H,0) + AS, (N, )

S ALELO) g, 0)Rin 2Dy )Rin PN 350715k
p (H2O) pl(N2)
AG = AH — A(TS) = AH —TAS = (122.004x 10’ —373.15x350.71) J =—8.863 kJ

AA=AU —A(TS) =AU —TAS =(112.697 x10° =373.15x350.71) J = —18.170 kJ



335 BE O100CAKPMMAMESER 101325 kPa, EREGETAKHNERERER
AH, :406681{T-11m11 EFETF 100CTEMDHET S 100 dn’ HBHERD, 5%

73 1‘*01&}1 iabul [ WREHTRES. SHENEIRRE, HorsEREsKEE
ﬁﬁ%ﬁﬁﬁﬂl@%ﬁ jz TEE 0, AU, AH, AS, MEAG . .

. ST EFERN 100 dn’ M)EFAFESFKETHYRAE.

maEs: n(g)=
RKis: m(g)=

A ERETF: KR =

P,V :\ 101, ”"*'r'lOE 100107

m(2), HyO(g)
F=37315K
p =120kPa

plr _‘;130911{}3 3‘310'[]'&:1{}_ 5

T S 3145373 1% ‘nmlzi.%gnml
e B I S I e B

‘ mol=3.266mol

RT | 8314537313
H,O(g) BEE5 A H,0() B9 n(D) = (‘} 868 -3, “66} mol = 0.602 mol
m(g)RT
@R _ 11843 dur
P
m(2), H,O(g) ny (2), HyO(g). n(l). H,O(1)
T=37315K T=37315K
dT=0 dT=0
O py =101.325kPa| (2 5 P, =101.325 kPa ‘
V' '=118.43 dm’ ¥ =100 dm”

7 =100 dm’




m(g). HyO(g)
T=373.15K
=120 kPa
¥ =100 dm’

dr=0

NS

m (g). HyO(g) 1 (2). HyO(g), n(l), H,O(1)
T=37315K g |T=37315K
—>
p, =101.325kPa| (&) " |p, =101.325 kPa
V' =118.43 dm’ V' =100 dm’

AH = AH, + AH, = AH, = -n(DA, H, (H,0) = -24 482 k]

AH

AS = AS, + AS, = - (2)RIn"2 + T‘?: —60.169J- K™

H

Q, =AU =AH —A(pV)=AH —VAp=-22.615kJ
AG =AH — A(TS) = AH —TAS =-2.030 kJ
AA=AU — A(TS) =AU —TAS =—0.163 kJ



